Calculus II Essex County College Sakai Web Project
MTH-122 Division of Mathematics Practice Quiz #4

Name:

Signature:

Show all work clearly and in order, and box your final answers. Justify your
answers whenever possible. You have 20 minutes to take this 10 point quiz.

Do only one of the following two problems.

1. |10 points| Evaluate.! You must show work!
4
/ sin v/ dx
1

Solution: Taking the hint.
U=z = du = —= dz = du:2—dx = 2u du = dx

Here’s goes.
4 2
/ sinv/z dzx = 2/ wsinu du
1 1
Now here’s the parts.

V=1 = dv = du and sinvw du = dw = —COSU = W

Here goes.

4 2
/ siny/z dz = 2/ usinu du
1 1

2

= —2ucosu]§+2/ cosu du
1

= —2ucosu+2sinu |}

= |—4cos2+2sin2+2cosl—2sinl

'First make a simple u-substitution where u = /x, then use integration by parts.
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2. |10 points| Integrate. You must show work!

/1 203 — 422 — 152 + 5
5 dx.
1 x? —2x — 8§
Solution: First you’ll need to long divide.
203 — 432 — 15z + 5 r+5
=2t
x?—2x—8 x?2 —2x — 8
Then use partial fractions to get
2% — 42? — 152 +5 z+5 3/2 1/2
Y N R 1 e iy
x?2—2r —8 $+x2—2x—8 x+x—4 T+ 2

Now integrate.

Vo3 — 422 — 150+ 5 1 3/2 1/2
/x:v x+dx:/2x+/—/dx

. 2 —2x —8 1 r—4 z+2
1

3 1
= 22+ = In|z — 4| — = In|z + 2|
2 2 71

_ m2
5v/5
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